
Name:

5831 =

Date:

Rounding Numbers 305
Why did the woman wear a helmet at the dinner table? She was on a crash diet.

Round these numbers to the nearest 100.

© www.teachyourchildrenwell.com.au Score:

11 180 = 21 53 =

2 450 = 12 476 = 22 184 =

3 283 = 13 485 = 23 569 =

4 12 = 14 97 = 24 183 =

5 43 = 15 375 = 25 390 =

6 79 = 16 21 = 26 25 =

7 266 = 17 19 = 27 241 =

8 258 = 18 83 = 28 16 =

9 829 = 19 74 = 29 215 =

10 23 = 20 242 = 30 58 =



Name:

5831 = 600

Date:

Rounding Numbers 305
Why did the woman wear a helmet at the dinner table? She was on a crash diet.

Round these numbers to the nearest 100.

© www.teachyourchildrenwell.com.au Score:

11 180 = 200 21 53 = 100

2 450 = 500 12 476 = 500 22 184 = 200

3 283 = 300 13 485 = 500 23 569 = 600

4 12 = 0 14 97 = 100 24 183 = 200

5 43 = 0 15 375 = 400 25 390 = 400

6 79 = 100 16 21 = 0 26 25 = 0

7 266 = 300 17 19 = 0 27 241 = 200

8 258 = 300 18 83 = 100 28 16 = 0

9 829 = 800 19 74 = 100 29 215 = 200

10 23 = 0 20 242 = 200 30 58 = 100


